
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 955

87 m = 87000 mm

16 hm = 16000 dm

6 dam = 600 dm

61 km = 6100000 cm

51 hm = 51000 dm

40 dam = 400000 mm

16 dam = 16000 cm

71 dam = 710000 mm

57 m = 570 dm

59 dam = 590000 mm

9800000 m = 98000 hm

240000 mm = 24 dam

50000000 cm = 500 km

5700000 cm = 570 hm

3100000 dm = 3100 hm

69000000 mm = 69 km

2100000 dm = 2100 hm

19000000 cm = 190 km

490000 cm = 490 dam

5300000 m = 53000 hm

44 m  et 63 dm = 503 dm

54 km  et 93 cm = 5400093 cm

42 dam  et 51 dm = 4251 dm

70 hm  et 60 cm = 700060 cm

88 km  et 88 cm = 8800088 cm

32 hm  et 5 mm = 3200005 mm

20 m  et 8 dm = 208 dm

16 km  et 56 dm = 160056 dm

15 dam  et 74 cm = 15074 cm

55 dam  et 2 mm = 550002 mm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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